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1. Identity the wrong collective noun?

(a) Scissors
(b) Army
(¢) Sheeps
(d) Daughters-in-law CTET 2018 Paper 11

Ans. (¢): wrong collective noun is option (¢)
sheeps. Correct collective noun of the noun
'sheeps' is- A flock of sheep or A herd of
sheep.
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2. Identify the correct sentence among the following:

(a) Please see my certificates.
(b) Please look at my certificates.
(¢c) Please look into my certificates.

(d) Please see into my certificates.
CTET 2018 Paper 11

Ans. (b) : Please look at my certificates.

Look at - %Wﬁé@':ﬂ



{72757 CTET / STET 2023

3. Which conjunction will be the most appropriate to

join the following sentences?

He lost the prize. He tried his best.
(a) though
(b) as

(c) because

(d) for CTET 2018 Paper 11

(a) though
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4. Which part of the following sentence is predicate?

On Saturday morning my friends and I play football in the
park.

(a) My friends and I

(b) On Saturday morning

(¢) Play football in the park

(d) On Saturday morning....... I play football in the park
CTET 2018 Paper 11

(c) Play football in the park
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5. What will be the feminine gender of 'wizard"?

(a) Fairy

(¢) Lizard

(b) Witch

(d) Ghost CTET 2018 Paper 11

Ans. (b): The Feminine gender of 'wizard' is-

'witch'. Hence option (b) is correct.



iII2ToT CTET / STET 2023

6. The masculine gender of 'vixen' is

(a) horse

(b) ox

(¢) fox

(d) Deer CTET 2018 Paper 11

(¢) fox
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7. Which among the following suffixes is not

suitable for the root word 'prevent'?

(a) ive

(¢) ing

(b) able

(d) ious CTET 2018 Paper 11

Ans. (d): The suffixes- ive, able, ing are suitable for the root
word- 'Prevent' as- Preventive, Preventable, Preventing.

While suffix 'ious' is not suitable for the word.
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8. Identity the phrasal verb in the following sentence:

"Thieves broke into the bank in the middle of the night."

(a) Thieves broke

(b) broke into

(¢) into the bank

(d) middle of the night CTET 2018 Paper 11

Ans. (b): 'Broke into' is a phrasal verb which

means- to enter a building by force.
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9. Complete the following sentence with the

most suitable option :

"I didn't know........ in the party."

(a) nobody

(b) anybody

(¢) somebody

(d) Someone CTET 2018 Paper 11

(b) anybody



{72757 CTET / STET 2023

10. Which of the following is not a homophonic pair?

(a) Principal-Principle
(b) Kite-Kit
(¢) Stare-Stair

(d) Steel-Steal
CTET 2018 Paper 11

(b) Kite-Kit
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11. Which of the following words doesn't have a

silent letter in the pronunciation?

(a) Honest
(b) Knock
(¢) Orange

(d) Debt
CTET 2018 Paper 11

Ans. (¢): The word- 'Orange' does not have a

silent letter in the pronunciation.
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12. Which part of speech is the word 'who' in

the following sentence?

"God helps those who help themselves."
(a) Noun

(¢) Adverb

(b) Adjective

(d) Pronoun
CTET 2018 Paper 11

Ans. (d): In the present sentence- God helps those who

helps themselves' here who is used as a relative pronoun.
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13. Which part of speech is the word 'so' in the following

sentence?
"Shruti wanted to work so she went to her room."

(a) Verb
(b) Preposition
(¢) Interjection

(d) Conjunction
CTET 2018 Paper 11

(d) Here word- 'so' is used as a conjunction

which join two clauses.
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14. Which of the following sentences has a 'modal verb'?

(a) Ram is an intelligent boy.
(b) He is flying a Kite.

(¢) His father knows me well.

(d) Her mother ought to know what she is doing in Mumbai.
CTET 2018 Paper 11

Ans. (d): The verb- can, could, may, might, will, would, shall,

should, must and ought to are called modal verbs or modals.
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15. Which of the following has a possessive pronoun?

(a) He could not help me.
(b) Ramesh who is my grandson is reading a poem.
(¢) Her sister is known to me.

(d) Ours is a vast country.
CTET 2018 Paper II

Ans. (d): Possessive case also refers to a type of pronoun
(mine, your, his, hers, its, ours, theirs) that indicates

ownership, measurement or source.
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16. Which of the following sentences has a collective noun?

(a) Cattle are grazing in the field.
(b) He has a lot of milk.
(¢) Raka is a fool.

(d) The air is cool here.
CTET 2018 Paper 11

option (a) sentence has a collective noun- Cattle.
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17. Identify the sentence in passive voice :

(a) He teaches Chemistry.
(b) They live in this city.

(¢) He will be taken care of.

(d) Ram is flying a Kite.
CTET 2018 Paper II

Ans. (c¢): option (¢) is in passive voice. passive voice structure- of

future indefinite tense. Sub+will/shall +be+ V3 form+by+ object
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18. Which of the following sentences is an exclamatory one?

(a) He cannot speak well.
(b) You are really very kind.

(¢) She is a small creature.

(d) How beautiful is the morning today!
CTET 2018 Paper 11

Ans. (d): A sentence that expresses strong feeling is called an exclamatory

sentence with exclamation, emotions etc and sign of exclamation "!'.
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19. Which of the following words has a silent letter in it?

(a) Calm
(b) Fawn
(¢) Cure

(d) But
CTET 2018 Paper 11

Ans. (a): In word calm, 'l' is silent.
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20. What is the subject of the following sentence?

No man can serve two masters.
(a) Two masters
(b) No man can

(¢) Can serve two masters

(d) No man
CTET 2018 Paper II

(d) No man
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D Home Work 7

Fill in the blanks with appropriate prepositions :

Ashoka is worthy ............ remembrance.
(a) for

(b) with

(c) at

(d) Of
CTET 2018 Paper 11






